ITHXKEERRE TR KER

AMEBREE XX

#ER :1/2,500

BAWRZDIELE |(2ENBORHE
HRAEES 132322A661121004

ERIES LfE
AT 7E 3t TEHAARBRTZHILR

X & & R A
[ ] twsEznxs
- IBRKERNERRE (BPRRESES) —

BEICEDAA100N/ MERBZ DR
T wMENemEBABRE

[ ] =hustoxs
BRI (E <
TREOHOKREIOET

[TREDNDORES—ERISHE

) .3
- \ I b
‘:;:‘“,,“‘ 62.8 t ;‘# ) e
% _ j -
B
l 7
X ; EREAH
A Y e HE =30
: SN : i ST
. 0 50 100 m

1/2,500

Of

TEE

1/ 2 ERE



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. Tﬁaméﬁﬂd'i'ﬁgfﬂozj’&lfmﬁ%'z*u'25’\ EMABEEE  |132322A661121004
jJ(DIZ%\?EEE(DEEHﬁ éhf:ziﬁﬁwﬂijdl_{’ﬂ'\bfb %, N y— ”
(A) BB= & B HAT00KN/ niE#BZ B RIEDBED 1 DEAEKN/ i) E) B HmEBRZ DR B HIED S DBABERN/m) 2 THXERARUZEBNICSHIREEHT S ik e
Z mztEA ] ERANIE m = me ke A = ERNIE m & p: 3 - — | Lg‘” T = e > >
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(A) (B) (C) (D) (E) (F) (@) (H) (A) B) (©) (D) (E) (F) (@) (H)
¢ 1) | 1408 10 100.0 10 16.6 3.3 15.1 3.0 140.8 10 98.5 10 16.6 33 146 29
(2) 123.3 1.0 98.9 1.0 15.9 3.1 14.9 3.0 123.3 1.0 96.4 1.0 15.9 3.1 14.6 29
( 3) 135.9 1.0 99.3 1.0 - - 13.9 2.8 135.9 1.0 100.0 1.0 - - 13.9 2.8
( 4) 135.9 1.0 99.9 1.0 15.7 3.1 15.0 3.0 135.9 1.0 100.0 1.0 15.7 3.1 15.0 3.0
(5) 108.8 1.0 99.9 1.0 16.6 3.3 15.0 3.0 108.8 1.0 99.1 1.0 16.6 3.3 15.0 3.0
(6) - - 83.7 1.0 16.6 3.3 15.0 3.0 - - 80.7 1.0 16.6 3.3 144 2.8
7)) - - 83.7 1.0 - - 14.4 2.8 - - 80.7 1.0 - - 144 2.8
( 8) 120.9 1.0 99.7 1.0 - - 12.4 25 120.9 1.0 96.5 1.0 - - 124 25
(9) - - 65.9 1.0 - - 11.0 2.2 - - 59.9 1.0 - - 110 2.2
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